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/* solve_quartic_eq.c -o solve_quartic_eq */
/* 2016.7.16 by M. Suzuki */

#include <stdio.h>
#include <stdlib.h>

#include <math.h>

double cube_root(double x)

{
double z;
z=pow (fabs(x), 1.0/3.0);
if (x<0) return -z;
else return z;
}
/%
/* Solve the cubic equation by Cardano’s method.
/%

int cubic_equation(double a2, double al, double a0, double *solution)

int 1i;

double u, v, x, ¥y;

double p, g, theta;

double A, B, C, D, F, R, Q, S, T;

p=3*al-a2*a2;
q=27*a0-9*al*a2+2%a2*xa2%*a2;
D=q*q+4*p*p*p;

D/=(54%54) ;

Dx=-1;

p/=3;

q/=27;

A=-a2/3;

B=-q/2;

C=sqrt(fabs(D));
for(i=0;i<5;i++) solution[i]=0;

if (D==0.0)
{
if (q==0)
{
for(i=0;i<3;i++) solution[i]=A;
}
else
{
F=cube_root(B);
solution[0]=A+2%F;
solution[1]=solution[2]=A-F;
}
}
else if (D>0)



x=B*B+D;

y=pow(x, 1.0/6.0);
theta=atan2(C, B);
theta/=3;
R=y*cos(theta) ;
Q=y*sin(theta)*sqrt(3);
solution[0]=A+2%R;
solution[1]=A-R-Q;
solution[2]=A-R+Q;

}
else
{
S=cube_root (B+C) ;
T=cube_root (B-C);
solution[0]=A+S+T;
solution[1]=solution[2]=A-(S+T)/2;
solution[3]=S-T;
y=sqrt(3)/2;
solution[3]*=y;
solution[4] *=-1;
}
return O;
}
/%
/* Solve the quartic equation by Ferrari’s method.
/%

double quartic_equation(double a3, double a2, double al, double a0, double *solution4)
{

int i;

double b3, p, q, r;

double u, x, y, z;

double Dp, Dm, rtDp, rtDm, R, S, T;

double solution3[5];

b3=a3/4;

p=a2-6*xb3%*b3;
g=al-2*a2xb3+8*pow (b3, 3);
r=a0-al*b3+a2*b3*b3-3*pow(b3,4) ;

X=2%p;
y=p*p-4*r;
Zz=-q*q;

i=cubic_equation(x, y, z, solution3);
u=solution3[0];

R=-sqrt(u)/2;
S=(p+u)/2;
T=-q/(4*R) ;

Dp=R*R-S+T;
Dm=R*R-S-T;
rtDp=sqrt (fabs(Dp));

*/
*/
*/



rtDm=sqrt (fabs(Dm)) ;

if (Dp>=0)

{
solution4 [0]=-b3+R-rtDp;
solution4 [1]=-b3+R+rtDp;
solution4[4]=0;
solution4[5]=0;

}
else
{
solution4[0]=-b3+R;
solution4[1]=-b3+R;
solution4[4]=-rtDp;
solution4 [5]=rtDp;
}
if (Dm>=0)
{
solution4[2]=-b3-R-rtDm;
solution4[3]=-b3-R+rtDm;
solution4[6]=0;
solution4[7]=0;
}
else
{
solution4[2]=-b3-R;
solution4[3]=-b3-R;
solution4 [6]=-rtDm;
solution4 [7]=+rtDm;
}
return O;
}
int main(int argc, char xargv[])
{
int i;
double a3, a2, al, a0, x, y;
double solution4[8];
a3=atof (argv[1]);
a2=atof (argv[2]) ;
al=atof (argv[3]);
a0=atof (argv[4]);
printf("a3 %1f\t a2 %1f\t al %1f\t a0 %1lf\n", a3, a2, al, al);
i=quartic_equation(a3, a2, al, a0, solution4);
for(i=0;i<4;i++) printf ("%1f\t%1f\n", solutiond4[i], solution4[i+4]);
}



